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RAMANUJAN MATHEMATICS CLUB, SALUR

8" MATHEMATICS TALENT TEST - 2008 @
IX CLASS (Upto November Syllabus)
NI . oo e e e oot es e Date : 07-12-2008
Max. Marks : 50
SN0 oot Time : 9 am. - 10 am.

A3t : 1) S00 LW BP0 HEREPIR, irwod 1,2,3 Jov 4 0 frd o SErped dFBLBOD
© 24 SO SR &, ePth, BB WY, §O SOTS SHRGRBHEVHL 1 By,
2) &8 8, FBREROBVBE 1/4 Bretiys Ao Brtye W08 SdIahud.
3) BRD HERFHBLO® KAL) RHRISY.

1) 22,33, Yastam 5 o6 250 267
Which of the numbers 22 33, 4/4 and %/5 is the smaller?

1) 32 2) 33 3) 42 4 35
2) A=(:) “J S0Bw 1=G)f:) 008 (AH) (A=]) oo

1 4 10
If A=(0_J andl.= o1) then(A+) (A=D) =i

" o) () ekl e G

2+J§

=a-bv3 -
3) 5" J_.@o)azéa b DEOS oo
If 2+‘/§=a~b\f§ then the value of a-b is
-t then the value of a=biis oo
1) 3 "‘ 2) 1 3) 28 4) -3
1) \/;2 +(2X+ Y)Y+ (2X+2Y+Z)Z = oo,
1) xty+z 2) x-y-z 3) x*+y*+z2 4)0

5) A%{L2},B={3,4,5} @oni Aol B8 srchiie D) Soxogre Joxg
If A={1,2}, B={3,4,5} then the number of distinct relations that can
be formed from Ato B is .......ccceuennene.

1) 64 2) 6 3) 32 4) 63

6) &I80b [Eciormes® Db R ={(x,y)/y<x+1} $% Boto?

Which of the following ordered pairs belongs to R = {(x.y)y<x+ 1}
t 1) (2.3) 2) (0,1) 3) (2.2) 4) (1.2) @
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7) R=R"' ®@ond Ret ...ooveeninl) DOBOGO )
If R=RMhen RS oo relation.

1) Symmetric; @"@K) 2) Anti-Symmetric; (58 &1.3;5
3) Reflexive; ST°HES 4) Transitive; So(8Soee
8) AcB ®ond n(A-B)= ... , If AcB then n(A-B)=
1) A 2) B 3 @ 40
9) 2008 ) SYJreo= .......... » Square root 0f2008® = ...
i 1) 2008l002 2) 2008|(m 3) 20085|2 4) 10041004

10) 40 4 b2 = pg DO ab=2 @01)26\/§+\/—§= ....................
a

It a’+b’ =28 and ab=2 then \,[%4-\[5:

1) 14 27 . 34 4) 16

------------

k? 11) X7P—-7xX 3% e S s&).?o:s &0 BBIPY SPE @rH?
cereisnennennn: TUSE bE added to x? =7x to make it a perfect Square?

7 49 43 7 49
) 22 o9l 0f

2 e
| 12) 338 ‘n’ D0 [J5es BogRY TR oo
Raiige of first ‘n” even natural nUmMbers is .......cocccoveuvrnnee.
1) n-1 2) n 3) 2n-2 4) 2n-1

130 (AN B)C = ASUB® o236 .......... 66@&1
(AnB)C—‘=AC UBS IS covveeeeeennne law.
1) idempotent, 95588 2) Identity, 86> 3) Compiement, e85 4) De-morgon's;&bq;s
14) 1-10, 11-20, 21-30............ S5KHOSE 11-20 SBKS OIS ©3........
In1-10, 11-20,21-30 .............. are the classes of frequency distribution,
then the lower limit of the class 11-20 i8 ..ouieeeireenes:
1) 10 2) 10.5 3) 1" 4) 20
15) 4x> —4x+1=0 3880 Harwere JGAPRO overeiwees
Nature of the roots of the equation 4x* —4x +1= ‘
1) Real and equal; T3Ten $Bdsn ¥draren 3) Complex $08g doggen
2‘) Real and unequal; &) RS Soggen 4) Irrational; $5dahH éowegoa' @
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16) A={2,(4,5)4) wavs &80 8 DO ©dE50?
If A={2.(4.5),4} then which of the following is false?
) (4.5€eA 2 {45)c A P{(45)cA 4{2,4cA

17) 28 YomwH dbaren K 25 L. H0d0 & 24 &, wowd oy
©¥e (JE30) evogo ... i

The slant height of a cone is 25 mts. and height is 24 mts. Find the
curved surface area of the cone is

—

-------------------

1) 550 Sq.Mts. 2) 525SqMts. 3) 625 Sq.Mts. 4)500 Sq.Mts.
N 18) xy Sovest 28 $68rn SKERS SEFE0......
’f The second order homogeneous expression in X,y is ..................
1) ax+by? 2) ax?+by 3) ax’+bx  4) ax®+bxy+cy? l
19) x-8xy’ @) so8emoseen; Factors of X-8xy’ are..........
1) x(12y) (1+2y+4y?) 2) x(1-2y) (1+2y+4y?)
3) x(1+42y) (1e2y+4y?) 4 x(1+2y) (1-2y+4y}) |

e
/ 20) xy>0, logX ,iog? =22 f00din xy=144 sans %1 s

If xy>0, logX +1ogY - lzﬁ and xy=144, then ; y _

---------------------

) 122 2 133 3) 24 4) 36
21) loglzn =0.3010 S0 108;3 =0.4771 wond 24%6° O wosevoeran?

Given ’03,2. =03010 and ‘083 - 0.4771 The number of digits in
24% are.........

2) 12 3) 13 4) 14
X2 (K-1)x+10=0 o3 5558005 5 e Sreo wawd K=

If 5 is aroot of the equation x? —(K =1)x +10 = 0 then the value of K=..
1) -5 2) 3 3) 7

x<0, y>0 wcnd (X,y) @ 508 dotnod
If x<0, y>0 then (x,y) lies in

1) Q, 2) Q,
;\_______________
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24) (I+\/2_) SVl W\ (‘ *\/i)e» Sareerenre Ko 585208800 ] |

The quadratic equation whose roots are ( 1+J2 ) and ( 1-V2 ) :
1) x*=2x-1=0

2) XX -2x+1=0 3) X +2x+1=0 4) x? +2x -1 =0
25) a+€/" éo@écc%wo s»zseao»a

-------------------

--------------------

1) a’ —adb + Yo? 2) a +a{/'6+€ﬁ,7
3) a’-a¥b +b 4) a-a¥b+b

26) ax’ —(a+b)x+b =03y coﬁ)oédeao :)655’5 =

------------------

2 b 4% : i ‘

D a -2ab+b” 2 a2+2ab+b2-'3) 0 4) a’ - b’ i

|

27) n{AUB)=48, n(A)=26, n(B) 22 ®onS A $08cw Bew......30o0den |

If n(AUB)=48, n(A)=26, n(B) 22 thenAandBare.......... sets |

,J 1) Equal; %% 2) Equivgggrit{;sw £3) DlSlodnt DaswE 4) None; Déses E
4 2\
28) A= (3 5

If A ( } then the additive

143\ r-4':3fﬁ‘ (-2 5-2
oB) Y a3 (37

29) If a™ = a"‘["_"."an then (©c03) m(n-2)+n (m-2)=

.................

1) -2 2) -3 3) 0 4)1

30) A'¢sn aHbde Prreso 616 $.20.8. ©S TR THPGo = ..............
The surface area of a sphere is 616 sq. cms. then its radius is

--------------

1) 14cm. 2) 7cm. 3) 21 cm. 4) 28 cm.
31) a’-b’—c’-3abc=.....concn......
1) (a+b+c) (a®+b2+c?+ab+bc—ca) 2) (a-b+c) (a¥+b+c?-ab+bc-ca)
3) (a-b+c) (a®+b?+c?+ab+bc-ca) 4) (a-b-c) (a®+b¥+c?+ab-bc+ca)
32) If 8A4B6=12, 12A3B9=36, 50A25B50=100 then (»c) 16A4B4=.......

1) 12 2) 14 3 16 4) 64
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34)

35)

36)

37)

38)

39)

A 005 Bew Both $éen; n(A)=26, n(B)=12 &ddaio n(ANB)=14
®ad N(AUB)=....................

If A and B are two sets such that n(A)=26, n(B)=12 and n(ANB)=14
then n(AUB)= ........ccovee.

1) 24 2) 28 3) 26 4) Note defined; DB D0IDES

If BT.AT = ['3 i J then (waws) AB +(AB)T = ...

14 25 25 14)
”(os] 2 (58) % (ssJ K (86J

8
J24 = 4.899 @00 \/3: DD, veverrns
8 .
If V24 = 4.899then the value of \/;-: IS vereeeereereennenes
1) 0.544 2) 2666 3) 1.633 4) 1.333

1) (l, ‘_‘) 2) (-2,2) 3) 2.-2) 4 ('71 %)

ab 1
If [ c8 J is a scalar matrix then the value of ad+b3.¢3 1Seeceuennn..

1) 3abc 2) 33/abc 3) i3 4) ifsa
0.00234 &%) eEAS ...............
The characteristic of 0.00234 is ...............

111

(a :] 28 Sogry SRBE wauS 53 4 b3 4 I DB )

C

1) 0 2) 2 3) 3 4)5 ‘
|

Tirias Soggd a’+b’ B ¢ +d’ DB d<bea<c SrHos

@""«\)K) Jaz +b?+c2—d? DeD....vvnenn,

Ramanujan’s number can be written as 5° b*or ¢ +d°

and d<b<a<c then the value of Val+b 4ol — g s

----------------

1) 13 2) 14 3) 18 4) 24
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40) &8 o a0 P 0.8, S0 Kok 8BALY e fodore m&:ﬁaﬂ
@ 0N 4ON0 ED. ... 0.8,
A sphere of diameter P cm. is melted and drawn into a cube then the
length of side of the cube is .................. cm.
) |
7 \3 ! !
1) (——) P 2) (67) P 3) (—6-)] P 4 (6zP)
6 n
-4 )
41) ET—b— iessstirsncerasne
a-t. _b—z ‘
bz _az 2 + 2 a2b2 a2b2
n 22 2)"—3—,3)12 9 =
a’b alb? b’ +a’ b -a

42) A Ben Both Er@%en $0 (A+B)2—A2+Bz wad 8ol PSP D8 HiEn?

i A,B are two matrices and (A-E-B)LA2+B2 then which of the following
is correct?

1) AB=BA 2) AB+BA=0 - 3) A+B=0  4) None; DBS°&

13) $DBPOE® FsSo By BED> SeLo...........

Identity element with respect to intersection in sets is ................

1) @ 2 u 30 49) {@}

44) BoZrgb HEHIVD. ... ; Father of Computer .....................
1) Charles Babbage; 5730 wéa 2) J.J. Sylnester; 3.8. &csgs
3) Arthur Caylay; eag5 ) 4) Ronald Fisher; 6‘:?:2' 9]

45) 1550B0ER) B Hotree KBS TFpTe0 ASD?.............

l Who was the first woman matematician of the world?

1) Sakunthala Devi; $%08er3d 2) Hypatia; 3erAase
3) Leelavathi; &er38 4) None; D85

46) A=(O 2), KA=(O 33] oond K,a,bo denden SBoJre............

3-4 2b 24
a=[% 2] ka=[" 2| then the values of K.ab tively..
If —(3_4, 5 24 | then the values of K,a,b are respective
1) -6,-12, -18 2) -6,4,9 3) -6,-4,-9 4) -6,12,18
\—
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A7) x -7+ 43, y=T- A3 ewond x! ’ y’ T
[
If x=7+4V3,y=7-4V3 then o ' y? T
1) 491 2) 14 3) 83 4) 194
48) JAXPS Po3H08reren Ko Botd Ky~ "m(;@w @08, SrESen 1:3
AYS® LoD, oS T TP VYB .ovvvvrrninn
Two circular cylinders of equal volumes have their lengths in the ratio
of 1:3. The ratio of their Radii is .................
) 4:43 2)3:23 3) 2:\1 4)3:43
49) o8 H8 S &Y 5 Sodcin BEeo L. wdo oY Dogg ¢ Hus |
Rogs BE0DH Kol 16 LS. @D FE DOP +rrvrrreennnns
A man has some hens and goats. If the number of legs are 16 more than
twice the number of heads, the number of goats is .................
1 8 2) 12 3) 16 4) 20 |

50) A o368 “RAMANUJAN MATHEMATICS CLUB”S® ef8ive 308,
B 36 “SALUR"E® egsine S8 0ol n(ANB)= ... )

If ‘A’ is the set of alphabets in “RAMANUJAN MATHEMATICS
CLUB” ‘B’ is the set of alphabets in “SALUR” then n(ANB)=..............

2) 4 3) 5 4) 9

~———

S

20016 > 8220 3B DY, 55m RDowd,
8 H0BE, TreumR SV DB5PD, 8 Db, Hoots BRes? 8 Hrodere Hwod
9081 00 DERIeD FED “DUAWE T, DO 308 Saseo”
OF £ 525 05, DECHDH0B0 FeK.

& 00508 TORTREN SoPHIODE ¥, veemthbane

£ 500 558,5 Heyo ogen.
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